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" Day 02 Geometric Serles Practice S afl-r)
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1-6: Find the sum (Sn) for each geometric series described.
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8. -4, 8, -16, 32, -64, 128

0-10: Whrite each series in expned form, and find its sum.
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11-:12: Find a; for each geometric series described.

11.  $,=720,n=4,r=3 . JY4(= -—6&1 13bsz Sn=-936,r = oeﬂ--75o Qa=A
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13: Solve the word problem.
Ao
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13. A virus goes through a computer, infecting its files. I@flle was infected initially)and the fotal
number of files mfec’red doubles every minute, how many files will be infected |n 20 minutes?
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Day 02 Geometric Sequence Practice . st &

1-4: For each geometric sequence find the next 3 terms, the common n ratio, the nth term named in
he problem, and finally, write an equation that models the sequence

. 4,-12,36,-108,... Findas = -\L' - L-4.16,-64,... Findaw = b i
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3. -4,16,-64,256,.. Finday Y= - 4. 54,18,6,2,.. .Findau V= -~
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5-6: Find the nth term named in the problem.

¥ 5.r=.25,a=-2. Find a5 6. r=3, az-6 Find a3 an ‘:OL’CV)

- 21 7C AN = A, ()
0= 2(.25) = w191 25° A, = L(3) ) 2= 0

7 -8: Find the mdlcm‘ed “term in each arithmetic sequence.
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9: Show your work to solve the word problem.
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9. Max has $20 to spend on his girlfriend for Valentine's Day. If the gift he wants to buy costs $50 but it
will be reduced by 25% each day, how many days will he have to wait in order to purchase the gift?
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